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MW“M=MmW(9m)T+(.mmmrmt 3 s its position vector
2ed 10 (6 m)i- (12 m)f. What is its average velocity? &Y ¥Y2— Y\

A) (5.4 m/s)i ~ (4.8 ms)j = b’c bt

B) (-1 m/s)i - (9.3 m/s)i@h GL -2} _at-98)

C) (3 mis)i + (1.3 m/s)j Qi HG..! ""3’_——

D) (3 m/s)i - (1.3 m/s)j -3\ -283 093]

Two objects are traveling around different circular orbits with constant speed. They 2
bothhavethesameacce_l:r_a_n‘gnbmobjedi\isu-avelinsono-halfssfastasobjec!B. 0.:-\-]——
TheorbiialradimforobjectAis“_dwembilmdiusforobject};- R
A) One-fourth @ a=Yy o=l :
B) Four times A B -
C)Onoalt “aa v=8 8% ﬂ
D) twice —"g ’Ll " T v R=g

An object moving in circular orbit with constant lincar velocny of 4 m/s and orbital
radius of 2 2m, what is the centripetal awelantlon

s sl -\Z
A)lme Q -_!_.. ,_,l‘_‘_z__ =
B) 4 m/s? R z
C)2m/s?
D)8m/s* &

An object completes one full revolution of circular orbit in seoonds, given that the
orbital radius is 5 m, what is the objects linear velocity? %
e — \’ < 2— “ .5 Q A

A)S5Sm/s (
B)31.83 m/s ..5—-
C) 1.59 m/s

D)10m/s @

XS =-1°'

An object is at rest at the point of origin (0,0), it accelerates at a raxe of (-3.2 m!s’)i +
(8:6 m/s?) for 4.7 seconds. Its final coordinates are: -2, t a <8 Gt
A) (~15.04 m)i + (40.42 m)j

B) (~0.68 m)i + (1.83 m)j
C) (3534 m)i + (9499 m)i @
D) (826 m)i +(45.44 m)f

____Q_t})" BE(P)Z

-
+ A) 3.2 m/s?, 128.66"»

An object changes its velocity from vi=6 m/s, vy= -8 m/s to vi= 2_(9'5, vy=-3m/s in
2 seconds, what is the magnitude and direction of the average acceleration?
E— e —

N; c 921 -3)

B) 1.8 m/s? -33.69°
\J\ ..G K Q,)

C) 5 m/s?, -36.87°
D)2.4m/s 11221°
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BNz -y it 5: =05 2425

v=vy,+at
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Ax=v°t+§at3 vi=vl+20xa




friction force js
A) A contact force that acts parallel to the contact surface o
7. | B) A contact force that acts perpendicular to the contact surface
C) A scalar Quantity since it can act in any direction
D) Always equal to the normal force between the objects
When the net force on an object is zero, which of the following statements 1@#\:6?
A) The vector sum of the forces acting on the object is zero o
8. | B) The object has a constant acceleration -
C) The object has a constant velocity -
D) The speed of the object is comtamﬂ yov
A 2 kg particle moves with veIocntyZHij!s, meneifgf_;onmepmcle is:
A}lnthedlrecnonoftheveloc:ty NP Y, W G ?-.} :
9. | B) Opposite of the velocity c s 2% O \ (4
C)Zero @
D) 4i+4j N
A 2 kg box is under a 6 N force east and another 8 N force west, what is the
acceleration of the box? (neglecting friction) 8 4"[3_—7 C N
= A) 1 m/s?, west & :
B) 1 m/s?, cast g=Gwmma
C) 7 m/s?, west e QXQ U)f';‘l
D) 7 m/s?, east
A man of mass 70 kg is in an elevator accelerating downward at 1.2 m/s?, the
magnitude of the nmni!_tl:oice on the man from the elevator floor is:
A) 70N =
e B:6OZNO %—‘ i 1.2 L ¥
C) 7552 Horq.8-T= 5K
"%
D) 555.2
A 20 N box is being held at rest on a frictionless incline plane by a force that is
parallel to the incline. If the incline is 30" above the horizontal, what is the magnitude
of the normal force on the box?
L | M)1as2N ma 0S©
B) 12.56 N 26 (063" 30
C)1732N WP
D) 10N

v=v,+at M="ot+§atz dhaic i




A car is being pulled by a tractor applying a total force of 600 N, if the car weighs
8000 N, what is the magnitude of acceierahon of the car?
13 | A0T5 mis @ GooN
B) 130.6 m/s?
C) 0.075 m/s’ GGS 8 3l 5 UG o
D) 13.3 m/s?
In the following figure, given Fy=4 N and F»= 6 N, what is the acceleration of the
block if it weighs 20 N? C-Y=wa
A) 0.1 m/s? .
] P 2 z2.64X0 L’\-«- _T*r,é
C) 0.98 m/s* @
D) 0.85 m/s?
Two forces applied on a particle moving with constant velocity, if Fi = 46 - 12j, then
. i;%‘:]s f\ '\'r?. -
' B) Fy=-451- 12§ Llé\ '\?) * ‘:7-
C)Fa=461+ 12 @ Fo VATV
D) F;=-46i+12j »
A crate is hung by two ropes as shown in the following figure, given that T = 12 N at
angle 30°, find the value of T> given that the angle
of T, with the ceiling is 50°.
16. | A) T2 =Zero 19 'T., TB
B)T:=16.17N@®
C; T2=54.75N g I«ﬂhﬂu S m\‘l" ﬁhﬁ
D)T;=35.5N
A cannonball is fired with initial velocity v, = 31 + 4] m/s. What is the han;_zglﬁl
(Efe\me cannonball will travel before it hits the ground?
17. | A)245mp 2 XNoy ¥ VoY
B)0.82m PIEYE )
C)1.02m e
D)235m g
A cannonball is fired with initial velocity v, = 31 + 4] m/s. What is the maximum
@e cannon ball reaches? n
A)245m 2ecne N loy”
' B) 0.82 __91___._\' éM‘.% 2
WOsm
C)1.02m K 2% 2
D)235m

v="ytat £lx=r;',:+§at2 vi=vi+240xa
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Given the masses of the two blocksshmmﬂ;efoﬁwwmg figure as M = 5 kg and

M: = 10 kg, what is the acceleration of the system when the blocks are being pulled
by a force of 65 N?
A) 6.5 m/s?
19. =tz ) A
B)43 m/s' @ v (W“' i 15@
C) 1.3 m/s? Gr);(r).‘_(@) Q ; |
D) 13 m/s? To
6515
— .
A string that can withstand tension of35.0mebmaksmdwanW
attached to the ceiling of an elevator. How large a mass can be hung from the string
without breaking it if the elevator is accelerating upward with acceleration 3.2 m/s*?
20. | A)3.57kg Wbl T - 1\ -350
4B)2.69 kg S\ -
—
C)4.26kghH 38 St B
D)5.30kg 63 vl - 395
A 6 kg block is at rest on an incline plane at angle 25°, calculate the coefficient of
static friction between the block and the surface of the plane. A%
A)0.466 ® fo
21. = 0
B) 0.225 F 3 L
€108 w3sin0 = UK. N oS0
D)0.75 629851026 = uK. 5380525
A man pulls a crate on a horizontal surface at constant velocity, if the man applies a
force of 15 N and the crate weighs 250 N, what is the coefficient of kinetic friction
between the crate and the ground? E-‘Z\ v
22, | A)0.61 P -""‘ y
B)0.12 \5 = wK.N= \ »
C)0.06 ® wK.250 )
D) 0.478
A 04 kg stone attached to a string is swung in a circle of radius 0.8 m, if the stone
makes 120 revolutions per minute, what is the tension of the string?
A) 1.8
gy | P00 < 10 T-—GO PR
B)50.53N ® e =
| Q0
C) 878 x 10*N L AN
D)3.16 N o g
4 g.ux\o|057; S0+53N
T 08
v=v,+at aﬁog z!mrzza,t+%m:2 vi=v2+2Axa
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desmndmig?
- | A)T00N —_
V\\%-'\ = ™M0Q D

l‘j o
A 70 kg man stands on a bathroom scale on a descending clevator. What is the weight
readmg(m the scale lftheelé'vMMngdown aura:eofS m/s? while

B)210N E
C)396 N @ Jor g 12703

D) 686 N

i B peseu st T e
(B £

A block of mass m = § kg is pulled at constant velocity alonglg rongh"ﬁorimnml floor
- f-
by an applied force T = 15 N with angle 40" as shown. What is the coeﬁicient of

)

kinetic friction between the block and the surface? S N

5

0.197 1% ™®

C)0.839 /U"“q: ¥ Bxy AL Tces®

D) 0.42 LTTTTTTT A 777777777
) ng .

26.

A block of mass m = 8 kg is sliding down at 25° on a rough surface with constant V*g't

veloeity, wh s the magnitude of the frictonal force? T

A)784N /?/
B) 71.05N . 5°

'n —_—
C)33.13N @ mg.é Q

D) 338N

A 400 N block Lsdraggedalongahonmnta[ surface by an applied force F as shown.
The coefficient of kinetic friction is d the block moves at tveloclty,

mu@@km( 152368

28.

An object of mass m; = m and another object of mass m; = 2m move in a circle of
radius 1 m and at a constant linear velocity of 1.0 m/s, what is the ratio of their

27. | A)153.85N »
B)200N a—| M}F'm”
C) 128.46N FTITITITY
D) 111.3N rCosag.gé:{yﬁx L|00J\-(5\‘r\3é-3£

centripetal acceleration ax/a;? K
les

— UK
A% a=VE P b N
7 ~ |3
)12 1 7
D) V2 i g

1 1

FC0576.86 = 04X loo

v=y,+at M:v,t-&-%atz v2=v§+2Axa




29.

A) Gravity cannot increase the speed of a falling object more than 9.8 m/s
B) The gravitational force is the same for all drops
C) The force of gravity is negligible for objects as small as raindrops

D) Air resistance balances the force of gravity

[ ’ Why do raindrops fall with constant speed during the later stages of their descent?

 30.

A cube has a drag coefficient of 0.8. What would be the terminal veloci/tyf of a sugar

cube 1 cm on a side in air (p

a—

kg/m’,
A)18.07 m/s @
B)24.5 m/s

C) 180.74 m/s
D) 244.78 m/s

\

e F—

7 Take the density of sugar % Tbe 1.6x 10°
(X ) o ’
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